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Center Pin Dim Code| CENTER PIN DIA. @A PLUG DIM. 0.0

TABLE A: Model of Center Pin

\ 2 | L3 |PAI0T 30%G/F UL94V-0 ROHS24I1. F Fit
‘ . LA ‘ 1 Lo |PA9T 30%G/F UL94V-0 RoHS2 Fit
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NOTES:
1.Rating:DC20V  3A; P.C.B Layout Hogls%lr}kaolor
2.Contact Resistance:<30Milliohm; i 97:Lime 577C Le{:ter fPln I]/\)HIIT A%ode
S.Insulation Resistance:2100Megohm; ol : 28:Pink 701C hoose. from
4 Withstand Voltage:AC500V for one minute; (Copper—sided view) 29:Blue 28I
E_ 5.Insertion and Extraction force:3~30N; 31:GRY 4220
6.Life test:5000 Cycles. 32:0range 157C
7.0perating Temperotu.re:f%S"CNJrZO”C 85%RH Max; Tolerance MODEL NAME:DC POWER JACK |[DRAWING: Miao Xue Ting
8.Storage Temperature:—40°C~+85'C 85%RH Max. XX +0.30 | MODEL NoDCO0440- - 00X CHECKED Zeng Yu
- XXX +£0.20
NG S.hunt Fermmo‘ O 1 [Brass 0.30t PLATED Ag X XXXX +0.10 o REVISION| SHEET | APPROVED: Xiao Zhong Bo
@ |Tip spring B Phosphor bronze 0.30t PLATED Ag X R SCALE:1:1 A2 -
8 Center pin terminall] 1 Brass 0.25t PLATED Ag X Angle +3.0 1/1 DATE: 2014-01-22
Center pin 0 1 Brass PLATED Tin X % T)% *% 2R ﬁ l}'& //_\\ Ej FILE: XZB/LINGYANG
D [Housing 1 | CHOOSE FROM TABLE B CHOOSE FROM P/N X UNIT:mm - s
NO.| DESCRIPTION QTY PARTS MATERIAL PLATING OR COLOR REMARK Ling Yang Precision Co.,Ltd DWG NO.DC00440-A001
T B 3 ™ | T= I s I = I TS




